Ki, Mobility

N
Rogue2 Armrest - Swing Away
= ey Ny |="l 14.13" -
. Y A
o Tw [ £
HEIN e —
= ﬁ,"// ,/AQ ».1_8/‘: T i
a4 e ’::;\ |:1§:|’ /'/) j‘?{,}g@ 8.80" Io Short Bent Swing Away Arm
i Y& L F
@qy’//

J*ﬂi 1443

Tall Bent Swing Away Arm

When to use Short vs. Tall Swing Away Arms: 20" Wheel: Rear Seat Height = 12.5" use Tall // Rear Seat Height = 13" or greater use
Short 22" Wheel: Rear Seat Height = 13.5-14.5" use Tall // Rear Seat Height = 15" or greater use Short 24" Wheel: Rear Seat Height

=14.5-16.5" use Tall // Rear Seat Height = 17" or greater use Short 25" Wheel: Rear Seat Height = 14.5-17.7" use Tall // Rear Seat
Height = 18" or greater use Short 26" Wheel: Rear Seat Height = 15.5-18.5" use Tall / Rear Seat Height = 19" or greater use Short

Item Number  Part Number  Description Quantity

1,6,8-10, 117134 Short Swing Away Arm with Receiver Assembly 1

1lla, 13-17 Right, Rogue

2,6, 8,10, 117135 Short Swing Away Arm with Receiver Assembly 1

12a, 13-17 Left, Rogue

iiaZ’l%aS’l%oi 117136 Short Swing Away Arm with Receiver Assembly 1

17 ’ PAIR, Rogue

1, 6, 8, 10, 117137 Tall Swing Away Arm with Receiver Assembly 1

11b, 13-17 Right, Rogue

2,6, 8, 10, 117138 Tall Swing Away Arm with Receiver Assembly 1

12b, 13 - 17 Left, Rogue

%ib2’162'b8'11301 117139 Tall Swing Away Arm with Receiver Assembly 1

17 ’ PAIR, Rogue

16,8, 10,17 |117140 gwing Away Arm Receiver Assembly Right, 1
ogue

2,6,8,10,17 |117141 Swing Away Arm Receiver Assembly Left, Rogue 1

1la,13-16 108166 Short Swing Away Arm Right, Ethos / Rogue 1

12a,13-16 108167 Short Swing Away Arm Left, Ethos / Rogue 1

08-06-2025




[tem Number  Part Number  Description Quantity
%éa, 12a,13- | 108168 Short Swing Away Arm PAIR, Ethos / Rogue 1
11b, 13-16 108169 Tall Swing Away Arm Right, Ethos / Rogue 1
12b, 13- 16 108170 Tall Swing Away Arm Left, Ethos / Rogue 1
%éb’ 12b, 13 - 108171 Tall Swing Away Arm PAIR, Ethos / Rogue 1
1,10 117132 Swing Away Arm Receiver w/ Nyliner, Right 1
2,10 117133 Swing Away Arm Receiver w/ Nyliner, Left 1
3a 115550 Back Plate, Right, Black 1
3b 115550 Color Anodized/Color Accent Back Plate, Right 1
3c 115551 Back Plate, Left, Black 1
3d 115551 Color Anodized/Color Accent Back Plate, Left 1
4a 115552 Back Plate, Transit, Right, Black 1
4b 115552 Color Accent Back Plate, Transit, Right 1
4c 115553 Back Plate, Transit, Left, Black 1
ad 115553 Color Accent Back Plate, Transit, Left 1
5 116329 Rigid Backrest Saddle, Narrow, 1.375" 4
6 100658 M6 Nylock Nut Blk Zn 4
7 115546 Strike, &.364 2
8 115574 M6 x 30 BHCS, CLS 10.9, NYL, BLZ 2
9 003232 M6 x 55 BHCS Blk Zc 4
10 103517 Nyliner 1" ID x 1.094" OD x 1.125" Long 2
13 100804 Tube End Plug 1" 2
15 000065 M6 x 23.68 Threaded Barrel 2
16 110061 'I\D/IaGt c):(hlo Stainless Steel Armrest Screw with 4
17 003241 M6 x 60 BHCS P/THD Custom Blk Zc 2

08-06-2025




